E — EE 41163 AT AT REEHRIE 1385 @
'. No.19,Fuping Rd., Taiping Dist., Taichung City 411, Taiwan

HERE | BAKE | ERAEBERS

bfc%#ﬂ%l%ﬂﬁﬁﬁﬁﬁﬁﬁ Tel / 886-4-2279 6907 Mail / sales@fobemotor.com.tw
FOBE ELECTRIC INDUSTRY CO., LTD. Fax [ 886-4-2279 6901

5 :Z Horizontal Brake Motor

fi oo B\ 2 + B Ak E s

= oEF ik B - BFETZESE (EC)

B i B BR ¢ ZEEEEER 200V ~ 220V ~ 230V ~ 380V ~ 400V ~ 415V ~ 440V ~ 460V S EEEEER
#m SRR ER ¢ Input: AC 200V~240V ~ Output: DC 90V~100V

& BE T 63~132
= & 77 X - 2ZHNEE (IPS4)
& Al R 2BETFINEARAE]
2 85 5 0 KRR
L
ED
L. 2
jasi
I il — Il ]
IE || B | I|CVE /
Mg | " @KK Hole
40K
Tt 571 HP 37 A |AA|AB|AC|AD|AE| B | BB| C H | HA | HD | HE | K
2P | 4P | 6P | 8P
025 | 025 | - - 63 100 | 28 | 120 | 137 | 120 | 94 | 80 | 112 | 40 | 63 8 | 12| 2
05 | 05 | 025 | - 71 112 | 40 | 147 | 164 | 135 | 111 | 90 | 115 | 45 | 71 | 11 | 149 | 55
1 1 05 | 0.25 80 125 | 35 | 155 | 172 | 143 | 112 | 100 | 130 | 50 | 80 | 10 | 165 | 51 | 10
23| 2 1 05 90L 140 | 42 | 177 | 203 | 160 | 130 | 125 | 152 | 56 | 90 | 12 | 189 | 49 | 10
3 2 1 100L 160 | 44 | 196 | 222 | 185 | 149 | 140 | 174 | 63 | 100 | 14 | 209 | 62 | 12
5 5 3 2 112M | 190 | 45 | 224 | 236 | 194 | 157 | 140 | 175 | 70 | 112 | 14 | 226 | 75 | 12
7510| 75 5 3 1325 | 216 | 45 | 249 | 272 | 227 | 183 | 140 | 175 | 89 | 132 | 17 | 264 | 69 | 12
10 | 75 5 132M | 216 | 45 | 249 | 272 | 229 | 183 | 178 | 212 | 89 | 132 | 17 | 264 | 69 | 12
BWE B HP - e | Ll e B I _ B % /
2P | 4P | 6P | 8P D| E|ED| F | G |GA DH Al &
025 | 025 | - - 63 2 27| 5| 11| 23| 18| 4 | 85]125 - 620127 | 6201ZZ
05 | 05 | 025 | - 71 2 |24 79| 14| 3| 25| 5| 11165 - 620322 | 620227
1 1 05 | 0.5 80 2 | 211 82 | 19| 40 | 5| 6 | 155|215 - 620427 | 620427
23| 2 1 05 90L 2 | 331|100 | 24 | 5 |3 |8 | 2/| 227 - 620527 | 620527
3 2 1 100L 28 | 367 | 105 | 28 | 60 | 40 | 8 | 24 | 31 | MI0X20 | 6206ZZ | 6305ZZ
5 5 3 2 112M 28 | 383 | 113 | 28 | 60 | 40 | 8 | 24 | 31 | MIOX20 | 6306ZZ | 6306ZZ
7510 75 5 3 1325 35 | 446 | 140 | 38 | 80 | 65 | 10 | 33 | 41 | M12x24 | 6308ZZ | 6306ZZ
10 | 75 5 132M | 35 | 484 | 159 | 38 | 80 | 65 | 10 | 33 | 41 | MI2x24 | 6308ZZ | 6306ZZ

1.0 bR



